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PART- 1: [General English]

Instructions for answering Q.Nos.1 to 5 :- (Synonyms): Each word is followed by
four words. Choose the correct synonym from the options given: -

1. PRECEDENCE

[A]Procession [(B]Priority [ClFormality [D]Hesitation

2. AURA

[A)Bitterness [B]Prophet [C]Delight [D]Distinctive atmosphere
3. DELETE

[AlInjure [B]Erase [C]Delay [D]Reveal

4. AGGREGATE

[AJResuit [B]Product [C]Difference [D]Sum

5. CUISINE

[AlHeaddress [B]Artistry [C]Game of chance  [D]Style of cooking

Instructions for Q. Nos. 6 to 10 :- (Antonyms): Each word is followed by four words.
Choose the correct antonym from the options given:-

6. VANITY
[A] Pride [B] Humility [C] Conceit [D]Ostentatious
7.ABSOLUTE
[A] Deficient [B] Faulty [C] Limited [D] Scarce
8. HOSTILITY
[A] Courtesy [B] Hospitality [C] Relationship [D] Friendliness
9.ZENITH
[A] Acme [B] Top [C] Nadir [D] Pinnacle
10.FRAUDULENT
[A] Candid [B] Direct [C] Forthright [D] Genuine
Instructions for Q. Nos. 11 to 15 :- (Prepositions) Fill in the blank by choosing the
correct option.
11. I shall meet you.......... 6 o clock.
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[A] by [B] at [C] in [D] during

12. My father will retire from service .......... a year.

[A] of [B] on [C] in [D] by
13. Tam angry ........... my sister.

[A] for [Blto . fC] at [D] with
14. My grandfather will come here .......... a week,

[A] with [B] before [C] at [D] within
15.Can you write ............... this pen.

[A] by [B] in [C] with [D] on

Instructions for Q. Nos. 16 to 20: Identify the word which is the precise substitute
of the expression given below in each question:

16. A doctor who treats skin diseases o
[A] Oncologist [B] Dermatologist  [C] Pathologist [D] Ophthalmologist

17. One who studies birds
[A] Omithologist  [B] Philatelist [C] Geologist [D] Genetic Engineer

18. Recurring every two years
[A] Bi-annuali [B] Quadric [C] Seasonal [D] Biennial

19. Study of derivation of words
[A] Paleontology  [B] Etymology [C] Morphology fD] Caligraphy

20. Of a man showing feminine attributes
[A] Ambidextrous  [B] Incomrigible  [C] Effeminate [D] Plagiarist

Instructions for Q. Nos. 21 to 25: Out of the four options only one word has been
spelt correctly. Choose the correct spelling.

21, [A] Abysmal [B] Abyssmal [C] Abizmal [D] Abissmal

22. [A] Prasbyterian [B] Presbyterian [C] Presbeterian  [D] Prezhateran

23 [A] Acquiess [B] Aquiessce [C] Acquiesce [D] Aquiesce
24 [A] Aggressive [B] Aggrisive [C] Aggresive [D] Aggrissive
25 [A] Boiyant {B] Boyant . [C] Bouyant [D] Buoyant

Instructions for Q. Nos. 26 to 30: Choose the correct meaning of the idioms and
phrases from the four options given:-

26. Devil's Advocate
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[A] A bad lawyer [B] To present a counter argument
[C] defense Lawyer [D] Prosecution Lawyer

27. To hear it in the “grapevine”
[A] To hear rumours about something or someone [B] To take partin a conspiracy
[C] To be short of hearing [D] To hear both versions of the argument

28. Every Cloud has silver lining
[A] It is likely to rain soon [B] Cloud in the sky [C] Be religious [D] Be optimistic

29, To call into question
[A] To write a letter  [B] To voice a strong protest [C] Todoubt [D] To scold

30. To go to the wall
[A] To be ruined [B] To be idle  [C] To be in grave trouble [D] To go for a holiday

PART 2: [General Knowledge]

31. What is the retirement age of a Judge of the Supreme Court of India?

[A] 62 years [B] 60 years [C] 65 years [D]70 years
32. In which year was the Gauhati High Court established?

[A] 1950 [B] 1948 [C] 1952 [D] 1963
33. Who was the first editor of the English weekly "The Times of Assam® ?

[A] Dhiren Bezbaruah [B] Jadunath Kakoti

[C] Radhanath Changkakoti [D] None of the above.

34. The members of the Rajya Sabha are
[A] Directly elected by the peopie of the country
[B] Elected by the Legislative Assemblies
[C] Elected by Local Self Governing Bodies
[D] Elected jointly by Legislative Assembly and the Local Bodies.

35, What does the term “Lithosphere” refer to?
{A] Plants and Animals [B] Interior of the earth
[C] Crust of the Earth [D] The core of the earth

36. Article 14 of the Constitution of India guarantees
[A] Right to education [B] Right to property
[C] Freedom of speech and expression [D] Equality before law

37 What is the National flower of India?
[A] Rose [B] Lily [C] Lotus [D] Chrysanthemum

38. “Operation Black Board’ implies
[A] Providing essential minimum education upto the primary school level
{B] Replacing black boards with the computers in primary schools
[C] Army operation in the jungles against the extremist
[D] None of the above
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39. Pankaj Advani is a sports person associated with
[A] Golf [B] Table Tennis [C] Rifle shooting [D] Snooker/ Billiards

40. The Indian National Army was founded by
[A] Field Marshal K.M.Cariappa [B] Lala Lajpat Rai
[C] Netaji Subhash Chandra Bose [D] Bal Gangadhar Tilak

41. National Judicial Data Grid (NJDG) is a
[A] New system for appointment of Judges in the higher judidiary.

[B] Web portal faunched by the Supreme Court of India for tracking pending case at the district

courts ?
[C] Network that connect all the High Courts in India with the Supreme Court
[D] Web based legal aid services network.

42. Who amongst the following Indians have won the Nobel Prize for Peace in the year 2014?

[A] Chetan Bhagat [B] C.N.R. Rao [C] Kallash Satyarthi [D] Ashish Vidyarthi

43. “Mariam Astin Athaba Hira Barua” is a book - written by which of the following Sahitya

Akademi Award winners ? -
[A] Hiren Gohain  [B] Rita Chowdhury [C) Arupa Kalita Patinga [D] Rabindra Sarkar

44. Which Assamese film bagged the National Film Award for 2014?
fA] Basundhara [B] Othello [C] Bandhon [D] Nene of the above

45. Which football team won the inaugural Hero ISL cup 2014 ?
[A] Kerala Blasters  [B] Chennaiyin [C] Atletico de Kolkata [D] Mumbai City

46. Corbett National Park is in :
[A] Assam (8] Madhya Pradesh [C] Himachal Pradesh  [D] Uttar Pradesh

47. Which of the following is not involved in tea processing?
[A] Fermenting [B] Drying [C] withering [D] Rolling

48. Who wrote the verse * Vande Mataram” ?
[A] Bankim Chandram Chattopadhyay [B] Sarat Chandra Chattopadhyay
[C] Rabindranath Tagore [D] Mahatma Gandhi

49. Who gave the slogan * Inguilab Zindabad™ ?
[A] Bhagat Singh  [B] Mohammad Igbal  [C] Sucheta Kriplani  [D] Sarojini Naido

50. Which distrit was separated from Assam and annexed to Pakistan

[A]Chittagong [B]Cachar [C]Sylhet [D]Goalpara
51.Which Indian freedom fighter had said ‘Swaraj is My Birth Right’ ?

[A] Lokmanya Bal Gangadhar Tilak [B] Jawaharlal Nehru

[C] Swami Vivekananda {D] Mahatma Gandhi

52, What was the time period of Indus Civilization / Harappan Civilization?
[A] 2400 BC - 1700 BC [B] 2400 BC - 1750 BC
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[C] 2500 BC - 1700 BC [D] 2500 BC - 1750 BC

53. Which is the oldest text in the world?

[A] Yajur Veda  [B] Atharva Veda  [C] Rig Veda [D] Sama Veda
54, Ajatasatru was the son of

[A] Bimisara [B] Udayin [C] Shisunaga [D] None of above
55. Which are the main gases present in Sun ? .

[A] Hydrogen and Helium [B] Hydrogen and Argon

[C] Argon and Helium [D] Hydrogen and Carbon Diaoxide
56. Which is considered as oldest civilization of the world ?

[A] Mesopotamian Civilization [B] Egyptain Civilization

[C] Harappan Civilization [D] Chinese Civilization

57, Which among following is called "Gift of the Nile"?
[A] China [B] India [C] Iraq [D] Egypt

58. Constitution of India was adopted by constituent assembly on ?
[A] 25 October, 1948 [B] 25 October, 1949 [C] 26 November, 1948 [D] 26 November, 1949

59. The plan to transfer power to the Indians and partition of the country was laid down in the?
[A] Cabinet Mission Plan [B] Simon Commission {[C] Cripps Mission [D] The Mountbatten Plan

60. Who was the father of Operation Flood ?

[A] Dr. Norman Borlaug [B] Dr. M.S. Swaminathan
[C] Dr. Verghese Kurien [D] Dr. William Gande

61. Full form of URL is?

[A] Uniform Resource Locator [B] Uniform Resource Link
[C] Uniform Registered Link [D] Unified Resource Link

62. In which of the following forms, data is stored in computer?
[A] Decimal [B] Binary [C] HexaDecimal [D] Octal

63. Documents, Movies, Images and Photographs etc are stored at a?
[A] Application Server  [B] Web Server [C] Print Server [D] File Server

64. What is LINUX ?
[A]} Malware [B] Operating System  [C] Application Program [D] Firmware

65. Which among following is commonly used language in Android applications?
[A]C [B] Php [C] C++ [D] Java

66. USB is which type of storage device ?
[A] Primay [B] Secondary [C] Tertiary [D] None of above
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67. Second generation of computers consist of which of the following?
[A] Vacuum Tubes [B] Diodes  [C] VLSI Microprocessor [D] Transistors

68. MPG is a file extension of which type of files?
[A] Audio [B] Image [C] Video [D] Flash

69. Ubantu is a

[A] Free and Open Source Software

[B] Is a proprietary software where the source code is hidden.
[C] Is a newly developed computer memory card

[D] Is a software developed by Microsoft

70. Mega Byte is equal to
[A] 1024 Bytes  [B] 1024 Kilo Bytes [C] 1024 Giga Bits (D] 1024 Bits

PART-3 [General Intelligence}

Instructions for Q. Nos. 71 to 75: Mark the Item that does not belong to the group.

71. {A] elephant [B] hen {C] dog [D] cat
72. {A] yellow [B] brown [C] violet [D] indigo
73. [A] charcoal [B] graphite [C] gold [D} diamond
74. [A] Aluminium [B] Copper [C] Brass [D] Silver

75. If HIPLM is a code for Delhi, QEHVEW is a code for
[A] Bombay [B] Nagpur [C] Kanpur [D] Madras

Instructions for Q. Nos. 76 to 80: Relate the following codes to relevant situations.

76. May Day
[A] Happy day (B] Pleasure time [C] Distress signat {D] New Year
77. Thumbs up
[A] Victory sign [B] All clear sign [C] Pleasure sign [D] Welcome sign
78. Dot Dash Dash
[A] Newton’s law [B] Distress signal [C] Morse code [D] Railway signal
79.5.0.S
[A] Law of gravitation [B] Welcome sign [C] Distress signal [D] victory sign
80. Eureka
[A] Lost and found (B] I have found it [C] Welcome sign [D] Hidden treasure

Instructions for Q. Nos. 81 to 90: Fill in the blanks with the most logical choice.
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81, Body includes limbs as tree includes

[A] seed [B] wood [C] branch [D] soil
82. Prison is to humans as cage is to .

[A] birds [B] iron {C] wood [D] cart
83. Doctor is to patient as teacher is to .

[A] books [B] student [C] learning [D] discussion
84. Health is to sickness as happiness is to .

[A] misery [B] fun [C] leisure [D] relaxation
85. Candle relates to sun as relates to ocean.

[A] cool [B] pool [C] fish [D] water
86. Chair: sit: bed: .

[A] sit [B] stand [C] cozy [D] sleep
87. Ship: ocean: bus: .

[A] river [B] accident [C] road [D] rest
88. Illiteracy: education: disease:______.

[A] teacher [B] doctor [C] stethoscope [D] medicine
89. Despair: hope: past: .

[A] brightness [B] future [C] present [D] desire
90. Revenge: mercy: cruelty: .

[A] aggression [B] anger [C] kindness [D] desire
91. A sum of money at simple interest amounts to Rs. 815 in 3 years and to Rs. 854 in 4 years.
The sum is:

[A] Rs.650 [B] Rs.690 [C] Rs. 698 [D] Rs.700

92. How much time will it take for an amount of Rs. 450 to yield Rs. 81 as interest at 4.5% per
annum of simple interest?
[A] 3.5years  [B] 4 years {C] 4.5 years [D] 5 years

93, Find the odd man out
10, 25, 45, 54, 60, 75, 80
[A] 10 [B] 45 [C] 54 [D]75

94. Pointing to a photograph, a man said, "I have no brother or sister but that man's father is
my father's son.” Whose photograph was it ?
[A] His own [B] His Son [C] His Father [D] His Grandfather

95. Looking at the portrait of a man, Harsh said, "His mother Iis the wife of my father's son. I

have no brothers or sisters.” At whose portrait was Harsh was looking ?
[A] His child [B] His father [C] His grandson [D] His nephew
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96. In a chess tournament each of the six players will play every other player exactly once. How
many matches will be played during the tournament?
[A] 12 [B] 15 [C] 30 [D] 36

97. Reena is twice as old as Sunita. Three years ago, she was three times as old as Sunita. How
old is Reena now?

[A] 6 years [B] 12 years [C] 14 years [D] 16 years

98 .A group of 1200 persons consisting of captains and soldiers is travelling in a train. For every
15 soldiers there is one captain. The number of captains in the group is ?
[A] 70 [B] 75 [C] 80 [D] 85

99. Aruna cut a cake into two halves and cuts one half into smaller pieces of equal size. Each of
the small pieces is twenty grams in weight. If she has seven pieces of the cake in all with her,
how heavy was the original cake ?

[A] 240 gm [B] 220 gm [C] 225 gm [D] 250 gm

100. A number is doubled and 9 is added. If resultant is trebled, it becomes 75. What is that
number

[A] 8 {B] 10 [C]12 [D] 14
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